MATH443
PARTIAL DIFFERENTIAL EQUATIONS
SECOND MIDTERM EXAM

SOLO TIONS
December 11, 2019 Wednesday 15:40-17:30, SA-Z02

QUESTIONS: Solve any three of the following four problems. In
each problem ezplain what you are doing. I don’t want you to use any formula
to find the solutions. If you use a formula you have to prove it..

[35]1. Solve the equation

—~ B2 ~ By, TP, =2 i5iny.

[35]2. Solve the equation

(& = y)(2" 220 — 22yzey +172,) = 22y(p — q)

[35]3. Solve the Cauchy problem

and 28, 26) =&t 5ili 2f) = 2%

[35]4. Solve the following initial and boundary value problem and justify
your solution.

1 = B, &0, .IE(D}L), k>0
u(0,t) =0, t>0,

ur(L,£) =0, t>0

u(z,0) = f(z).
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